HW#20 91 =<l @E#2
IR 4
JR=R 1 koOBEE =T 00 OFICLEL LS,
HEE ~PTWK HEE ~kc<Ww
Bl 5 AT Bl 5 Bz W
LD 7.9
2. fx 7 8. 117
3. T % 9. k%
4 T2 10. RO %
5. 1%< 11, B
6. 5 12. BT %

=k 2: ROXEZAARFHFICLEL X 9,
1. Itis easy to talk to my teacher.

2 . Itisdifficult to sleep in this bed.

3. Itiseasy to live in Portland.

4 | Itis easy to ride on this bicycle.

5 . Itis difficult to open this door.

6 . Itis difficult to explain in Japanese.

7 . Itis not easy to see the screen from my seat.

8 . Itis not difficult to walk with my new shoes.




